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AG Peg A 32000 — 21 51 01.99 5J2()(]() =12 37 32.6
B (%) V (1) B-V (&) U-B (%) V-Rc (&%) R-Iz (%)
11.059 0.021 10.428 0.019 0.631 0.009 0.178 0.012 0.374 0.005 0.308 0.009
11.505 0.026 10.672 0.020 0.832 0.017 0.528 0.014 0.508 0.013 0.430 0.020
11.708 0.043 11.204 0.041 0.504 0.015 -0.030 0.027 0.330 0.016 0.302 0.016
12.628 0.024 11.650 0.021 0.978 0.013 0.715 0.014 0.537 0.007 0.503 0.018
12.872 0.031 11.428 0.026 1.444 0.017 1.664 0.014 0.805 0.009 0.730 0.024
13.079 0.029 11.904 0.026 1.175 0.012 0.644 0.020 0.599 0.001 0.490 0.009
13.239 0.027 12.233 0.026 1.006 0.007 0.789 0.017 0.582 0.016 0.458 0.026
13.405 0.021 12.890 0.017 0.515 0.012 -0.067 0.038 0.305 0.011 0.274 0.017
14.140 0.034 13.658 0.026 0.482 0.021 -0.011 0.030 0.347 0.054 0.295 0.054
15.150 0.034 14.130 0.020 1.020 0.028 0.436 0.032 0.595 0.021 0.553 0.052
16.466 0.050 15.796 0.022 0.670 0.045 0.548 0.076 0.429 0.059
ag2000 (£7) 72000 (£7) N
a 327.634697 0.127 12.579179 0.068 3
b 327.713429 0.049 12.722601 0.023 3
c 327.910127 0.106 12.724433 0.040 3
d 327.822540 0.000 12.626725 0.040 3
e 327.809314 0.044 12.696110 0.029 3
f 327.894396 0.060 12.679077 0.018 3
g 327.870427 0.015 12.527921 0.027 3
h 327.619478 0.101 12.675991 0.063 3
i 327.719416 0.027 12.782514 0.019 3
j  327.857061 0.015 12.482866 0.052 3
1 327.661674 0.297 12.506654 0.295 3
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